'f"ﬁaﬁtﬁ:&%é{i" " oay et |

.................................

BICLOGY _(**a(hw Bogik) — gt . Supdt. Sign & Seal

There are three sections of this paper. Carefully read the mstructnons for'each section and atlempt
accordingly. Attempt all questions of Section-A and ‘return it to the Superintendent within given time,

- even if you have not attempted any question. Seiect the correct choice and write only A, B, C or D,

_ whichever is appropnate in the answer box. No marks will be awarded for cuttlnglerasmg or overwriting.

'Tlme. 20Mintes - SEC.IL_N,._, o o Mk 12

Amoeba represent which level of arganization? A} cell, B) tlssue, C) orgamsm 0) organel!e
WhICh one is the basic unit of classifi cation? A) famlly, B) species, C) genus, D) order
Which of the following is an autotrophic? A) fungn B) animals, C) plants, D) protozoa .........womeien
Mushroom. belongs to the kingdom: A) monera, B) protista, ) fungl D) planize. ............ ST -

If 2n=46 for a particular cell, then the chromosomes number in egg cell after meiosis would be:
A) 13, B) 23, C) 46, D) S S,

6. Crossmg over occur during which phase of meiosis? A) prophase ! B) metaphase—l C) melaphase AL
D) ANAPHASE-] 1vviiereime s e b o b R b e s R e ne e R R OO S

7. Enzymesare ....... in nature. A) carbohydratss, B) proteins, C) fats D) BallS orrseinssismessasein

The sum of chemical process in a living organism is called: A) catabolism, B) metabolism,
C) ANADONST, D) ROMMONES 11vrvsvcervcenrsmsomsersesscossstsesastsssessessssssissssssssssss s esss s [:I

9, Absorption of water molecules through root hairs is due to A) actwe transporl B) diffusion, C) osmosis,
D) pressure flow ......cuvvvvnivssvisrennsisiins v e P R R 1 SN

*3. New cell arise from: A) tissues, B sol, C) organ, D) alreadly exlsting cell ..mmmsismmmumnsrssssin
11, Which of the following does not manufacture digestive juice? A) liver, B) kldney, C) stomach, D) pancreas ...
12, Meiosis takes place in which of the foi ‘iowing organ? A} lungs, B) heart, C) ovary, D) stomach ...

NOTE:

---------------

ArsTrenisarEIER inTeaY

Al B o

.I.I.l.'l'....'."..l‘.‘ﬂlQ.l".l'..Cl"..l.!lll..ﬂO..ﬂ0Il.-U.Q.d@ﬂﬂ.'llll."..oﬂ".ll.l.

&= (U8 =l

P VA -u/d’umfrvzi.ﬂ-—u" -u/d’dw»ﬁ.,.mu’d;);/c_bw Ui /%:J;/u’!
IS 5 L& o o _;/u“,,waféfuwa/_,w_m-rw J’Jlrfdﬁ..ulc_lvu’fé_b’ﬁ
' 4.,u*u“/ai_,uwéémmégwéz,{

3

1234 . T L w20
O il (b i (o s (U <’r_L/Jquz,ﬂ/L/”okw 1

BI6 PG o o e 2

_ J:’Ia,.,wa..—g G wry @ u;’ltg (- i (i ?4_;)/54)?L5f;cz.dfu1, 3

ct 6 B @ byl der (B See e/ Fnp A

|:|_ 920 46 @ 23 (- 13 (H v&wpu:u/,u:w&mfuz.)/f 2n= 45&#&7 5
E]_ R G ARl @ Al (o defag (i "/_.L:’J?CrossmuOveru’&/u”zu/lu 6
[ ]— G QB @ ettt (o it (O gplnleddome AR T
[ 6 e @l o i (i e bl SR Pt 8
[ ]————tleibs & T @ o G S () SN WIS T ]
D — e Ubrre G et @ el (o ezt () grE e a0

T O @ esf Gt St
D e . i O St @ b (¢ st (I drCl)Wldu’r’fu/ Az




Time: 2 Hours 40 Minutes

4o

T | o181 ¢,

BIOLOGY — 8th

SECTION-B

Attempt any eight of the followung All carry equal marks

i,

V.
vi.

" il
viii.

xi,

.
L

Write a note on Bioeconomics.

Define the following: (i) Tissue (ii) Species
Write a note on Aristotle's classification.
biscuss the structure of mitochondria.
Differentiate between osmosis and diffusion.
Write down the significance of mitosis.

What is meant by denaturing of enzyme?
Write a note on light dependent reaction.
Explain lactic acid fermentation.

What is the role of nitrogen in plants growth?
Wirite a note on the structure of oral cavity of man.

SECTION-C

Marks;. 32

Marks: 21

Attempt any three of the foliowing questions. All questions carry equal marks..

Give four differences betweaen veins & arteries.
How digestien of food takes place in stomach?.

Write a note on Kwashiorkor. “ii.  What is non-disjunction of chromosomes?
What are the main points of cell theory? i, Write a note on structure of virus.

5. Write a detailed note on the composition of blood.
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